EFRARPER - EEBAREFRR

Better Intraoperative Experience - Better Post—operative Effects

MK U5 E T7 2e A PR A

SUZHOU YOUBETTER MEDICAL APPARATUS CO.,LTD.

L) B THRERCI LR

Chuangye Road, Jinfeng Town, Zhangjiagang
{1 0086-13913613681
0512-56913248
=] yeahxixi@126.com Candyxu@youbetter.cn
www.youbetter.cn

’ ETTER

YOUBETTER MEDHCAL APPARATUS

YOUBETTER
MEDICAL APPARATUS

L D4 EE T 23
«www.youbetter.an




(fserrer

COMPANY
PROFILE 2R &4

BN ETT B HAR AR B —REMAR  FIE HEA BN T L ETEM ™ RS,
AT SHER 60 RE, BHAERAL 3 HEFEHK.

REERTREEF—RKENHLE, BRISRLTREN~RMEAER, HEREFRTHEN
MERSNAEEERAS, RS ROAHR.  GRNTRFEAZTEAERNTWAEENEH
FIRA, BRI T — I ML (ERHZE L, HABEMMBEFANYRCH RS BRl, A AT
BRNEEMEIGREAY = RILTERMEM, TRIAR, £@HRERTEEEET.

HAEFNERERPEERENEENEREUNEILER T ARENILR™ .

Suzhou Youbetter Medical Apparatus Co., Ltd. is a specialized interprise focus on researcing, developing,
manufacturing, selling medical instrument products. The area is more than 60 acres, including building area
of more than 30000 square meters.

The company owns an international standard medical researching and developing team. To make sure the
products advanced, effective and reliable, the company has established sound researching and developing
system, contained internationally advanced researching and developing device and running system.
Besides, the company has organized experienced sales team, and built a networkd, information-sharing
logistics warehousing platform which is extended and penetrating. Hundreds kinds of spine and trauma
implants with over thousands of sizes are being sold to all over the world.

It is our wish to bring patients health and happiness with outstanding quality products from Chinese doctors'
wisdom.

fserrer

H=R
ONTENTS

BN — XM EE RS

UNILATERAL NONDETACHABLE EXTERNAL FIXATION SYSTEM

timmcwm@rnmon 02

MIC A)(iAL FIXATOR 04
PELVIC FIKATOR 06
LIMB RECONSTRUCTFON SYSTEM 07

08
MINi FIXATOR{PHALANGE & METACARPAL) 09
EXTERNAL FIXATOR (STANDARD} 10
HERXIEERS
MODULAR FIXATION SYSTEM
NH I 54M @ 7E =
NH1I5 EXTE 15
NH I BSNE 20
NH || 8 EXTERNAL FIXATOR SYSTEM _

) TII4R 26

AO [I] EXTEF{NAL FIXATOF: SYSTEM
GY IVHhI ' 34
GY IV EXTERNAL ATOR SYSTEM
Bil—EX. AOIL. GY V4hNEZERSE T H
INSTRUMENTS OF NONDETACHABLE UNILATERAL AO IIl. GY IV EXTERNAL FIXATION SYSTEM 5%

4 bl [ ==
INEAMNEIZE R G
RING FIXATION SYSTEM
FHSNE 2 R 38
RENG F!XATiON SYSTEM
SMEIEZZEET, TR
SHEET FOR THE ROD & SCREWS
; --Jl-.,:.:,,n. B !.f.;_ 42
STANDARD BONE SCREWS

a1 et

SELF DRILL]NGESELF TAPPING BONE SCREWS 43
TENSION PN 43

43
ELASTIC NAIL 44
K WIRE WITH OLIVE 44_
THREADED GUIDE WIRE 44
DRILL BIT 44
SUTURE WIRE 44



01

’ BETTER

WOUBETTER MEDCAL APPARATLS

NONDETACHABLE

UNILATERAL

EXTERNAL FIXATION SYSTEM
B—@RSEERSE |

’ BETTER

YOUBETTER MEDNCAL APPARATUS

www.youbetter.cn

- BBER BE EARTRGERTR
i£).

= FARMEE, RIEER.

= WEIFAR, RS Mt

> AWMIIRFR, NSRRI,

> XRSFFKH—, TEHNEH
R, TR, REBIFEE.

- §HRIRIE RERESIRE B HIEIR,
fEHmgET

-~ BRITRAHRBERLORTT, iR
®,EETE.

Product features

== Unilateral fixator, light, stable(applicable
for emergency cases).

== Easy to operate, saving surgery time.

== Minimal-invasive surgery, no effect to the
blood supply to fracture.

== No second surgery, can be removed at the
clinic.

== Consistent with the bone shaft,
controllable dynamic design, micro
movement, promote the union.

== Clamp design, make the fixator itself as a
template, easy to position the screws.

== Bone screw is designed with conical screw
thread, turning more and more tightly,
fixed and reliable.

AREEXH‘SE, ARRELSEAE.

INustrates configuration for reference only, a specific configuration to the actual subject.

NO.YB2020900
R 3% 5 32 22 (A 1Y) Wrist fixator

e E To configure

- BEB|H02.5%60mm
B £P3.5x70mm

 478®3.5mm

A8 Ktk S &

NO.YB2020901
fiE 25 32 22 Wrist fixator

it ® To configure

Wrist fixator 13§ Set
HES|HDISK70mm  Bone screws 2% Picce
AAMIEFAMM Allen wrench 48 Piece
LT D3.5mm T-wrench 148 Piece

()
<
=
o
3,
o
s
T
w
H
=
X
(S
o
(@)
-

NO.YB2020902
[ 255 37 22 (L#Y) Wrist fixator (L type)

e E To configure

BXPEae Wrist fixator k3
 BE3|4D3.5X70mm  Bone serews. 43 Piece

A AEETF4mm Allen wrench 148 Piece
Emossmm T e i

NO.YB2020903

B 22 Forearm fixator

BEHE To configure #iE oty

AR Forearm fixator 13 Set

| ARSIHOISXT0mM  Bone serews. 4% Pioce
FETRO3.5mm T-wrench 138 Pieee
BARBESTIN Al 1 e
ﬁﬁﬁﬁ:—l{)mm Combination wrenches Hﬂ Piece

02



U serrer (fserrer

s - BEIINEEZRRS www.youbetter.cn

BRrmEREeE, ARRERISEAE.

Mustrates configuration for reference only, a specific configuration to the actual subject.

BRRRHSE, REREUSLEAE.

INustrates configuration for reference only, a specific configuration to the actual subject.

NO.YB2020904 #zh 7135 25(TR)) Dynamic axial fixator(T type)

e 55 19 37 22 (3£ 3K 8Y) Wrist fixator S Type  FEHMHS No. A To configure
h W E To configure T | YB020-001 | fEp A Dynamicaxial fxator 1E Se e
j] B = 1E s . . YB2020-002 . WIS D6.0X 150mm Bone serews 2% Picce L4
] BREI$025X60mm  Boneseres 2% biee x| (oanon | BRSHHBOCOX)Smm Bow e 25 e %
* BHES|EHPI.5X70mm  Bone screws _ 237 Piece | TRARG L WAMBIRF6mm Alsarnd 148 Pleoe 2
='i5 HA BT 4mm s | 158 Picce YB2020-005 | {78 Pémm T-wrenfzh 138 Picee g
i‘ L4738 D3.5mm T-wrench 138 Piece AB2020 005 ‘ maEhhZR By ol oy & Set i
;E' YB2020-007 | B3| D6.0x 130mm Bone screws 2% Piece ﬁ":
. q’f YB2020-008  fE3|$HBO6.0X 150mm Bone screws 2% Piece |
YB2020-005 | PAFHF6mMm Allen wrench 148 Picce
g NO.YB2020905 YB2020010 | _E4TEE®EmMmM T-wrench 158 Piece 9
g %;é—_%—i "p’é(%.%ﬁiﬁli) Wrist fixator YB2020-011 . ﬁaﬂ_j:ﬂﬁﬁg Dynamic axial fixator 145 Set g
- - . Bone se i
g' A To configure BE o — YB2020-012 | FEE(|$P5.0x120mm screws 23 Piece g
= : : YB2020-013 | HEE|HHBOS5.0x 130mm Bone serews 237 Piece
3 il st fiator HE S s YB2020-014 All h 3@ Pi %
= B34 D2.5X60mm  Bone screws | 23 Piece maDls | AxREEoTm e 9 Fioch o
5 ! . YB2020-015 | 478®D5mm T-wrench 138 Picce =
o NNBRGE 22700 Baanm | e YB2020-016 Dynamic axial fixator 145 S <
) WA BHEF4mm Allen wrench | 148 Picce | W= 2 i n 3
= T — T e YB2020017 | BEE[$HD4.0X 100mm Bone serews 43 Picce o
o 1] Xs YB2020018 | AAFRFAMM Allen wrench 138 Picce
YB2020019 | _E4TEE®4mMmM T-wrench 138 Piece
NO.YB2020906

03

BRI S %751 Wrist fixator(Radiolucent multi-joint type)

E_l “To configure R oy

e d Wrist fixator 145 Set fi# To configure
HEE[SD2.5x40mm  Bone screws | 23 Picce YB2020020 | )AL Dynamic axial fixator 145 Set
HHEE|HO3.5x70mm  Bone screws 23 Piece *a YB2020-021 . ﬁ-ﬁgl%ﬂ)&ﬁxﬁ(}mm Bone screws 43% Piece
A7 AEFESMm Allen wreneh ‘ 138 Piece X YB2020-022 | AFEHIEFEMmM Allen wrench 13 Picce
5T D3.5mm T-wrench 140 Piece YB2020-023 FETE8DEMmM T-wrench 138 Picce
| YB2020024 | ENHER Dynamic axial fixator 135 Set
he YB2020025 | EE34P60X130mm Bone serews 4% Picce
M YB2020026 | BFARFSMM Allen wrench 14 Piece
NO.YB2020907 YB200027 | EETE®SmM Twrench 148 Picce
fiE %753 22(PEEKFA # ) Radiolucent wrist fixator YB020.028 | EHXR Dynamic axial fixator 145 Set
by TRESD | BEIHITHOX M e 43 e
PR s far 1 sa L AN 48 Pice
BHE|$D02.5%60 e ‘ 2% Picce YB2020-031 FETEDPSMmM T-wrench 148 Picce
BES|#HD3.5% 80 Bone screws | 23 Piece DAt | hanh 3R M AR 1 Set
W R F4mm Allen wrench | 138 Piece e s YB2020033 | fAE3141040X 100mm  Bone srews A7 Fieco
4T203.5mm Towrench | 14 Picce 22 AR ‘ PR fAIRFAMM Al 148 Piece
: : ' YB2020-035 | ETE®4mM Twrench 148 Piece

04



/ /

BETTER BETTER

T - BRIMBEESIRRSR

www.youbetter.cn

BRRRHSE, REREUSLEAE.

INustrates configuration for reference only, a specific configuration to the actual subject.

WEh 7137522 Fiis) Dynamic axial fixator

BRrmEREeE, ARRERISEAE.

Mustrates configuration for reference only, a specific configuration to the actual subject.

NO.YB2020908
B 52 A Pelvis fixator A

AE To configure i Oty

ﬁ- B The pelvis fixator ‘ 125 Set
5}] B8 Type  FRAZ No. B3| $HBDS.0X 150mm  Bone screws { 43 Piece
+ | YB2020:036 | WEIHIR Dynamic axial fixtor 125 Set AARBIRF6mm Allen wrench | 48 Piece
v | YB2020-037 | BEE|4®46.0x150mm Bone screws 237 Piece EETBDEMmm T-wrench ‘ 148 Piece
AT vB2020.038 | {E:3I$HHBO6.0X 150mm Bone serews 2% Piece
i X | YB2020:039 | AAMET6MM Allen wrench 148 Piece
. % | YB2020.040 | L§72®D6mm T-wrench 13 Picce
(o)
<
=
]
=
=
<
) NO.YB2020909
g B85 2B Pelvis fixator B
o | i To configure #H&E o
E BHER The pelvis fixator | 148 Set
BEIHHBOSOX150mm  Bone screws | 4% Piece
P55 AR E 6mm Allen wrench | 148 Picce
LE188D6mm T-wrench | 13@ Picce
S Z (12 575%)) Dynamic axial fixator(Ankle joint type)
BE Type FEREE No,
YB2020-041 | HEIHXE® Dynamic axial fixator 145 Set
S | YB2020-042 | §E3|$H06.0% 130mm  Bone serews 437 Picce
X | YB2020:043 | NAMIEESMM Allen wrench 148 Picce
| YB2020-044 | F{TRDEmMM Tewreach 148 Piece
| YB2020-045 | #Ehhde Dynamic xial fixslor | 145 Set
e | YB2020-046 | BE3[4HO60X130mm  Bore serews | 43 Pieee
M ‘ YB2020.047 | FIAMIRF6mM Allen wrench 18 Piece NO.YB2020910
N B2 %2 Pelvis fixator C
2 ic axial f —
_YB2U 0-049 | wEhhER Dynamic axial fixator 135 Sfl _ B s contic B oy
e | YB2020-050 ‘ BES|H05.0X120mm  Bone screws 437 Picce e The pelvis fixator 1% Sat
— 8 | YB2020-051 | WAAiEFsSMm Allen wrench 148 P?m RE3/HHBO6OX 150mm  Bone 4% Picce
YB2020-052 | F§TERD5mm T-wrench 138 Piece B IR E 6mm Allcn wrench 148 Piece
5788 ®éMmM T-wrench [ 148 Picce
FAAHEF10mm Combination wrenches | 138 Picce

05

SN B

—
@
=
)
=
>
)
'—r
o
i |
v

<
w
—
®
3

06



’ BETTER ’ BETTER
RS - BRINEESRES www.youbetter.cn

ErREN#SE, AKREMKERE.

Mustrates configuration for reference only, a specific configuration to the actual subject.

BrmENRSE, AEREURERE.

INustrates configuration for reference only, a specific configuration to the actual subject.

NO.YB2020915
195955242 Elbow fixator

BLE To configure B Quy

NO.YB2020911
BIEKA LRSA

= e e i s g
=21 AR LR e 8a BAE| 450X 110mm  Bone serews | 4% Pie S
E R B0 0 T Bous o X P'“ AABETF5SMm Allen wrench | 1B Picce i
% mﬁﬁﬁ*émm A e | 118 me MERFO4mm Allen wrench | 148 Picce g
?7] LETRPEmMmM T-wrench \ 138 Piece F4T8R®5mm T-wrench | 148 Picce g

3l

= .
3 by _
= =3
3 NO.YB2020912 o
M =78 LRSB S
: 5
3 =h
c BHEESIR LRS fixator 145 Set 5.
rg’. BEE[6D6.0% 150mm  Bone screws | 4% Pioce S
= A EEESMM Allen wrench 138 Picce =
2 LETE8R0EmmM T-wrench I 130 Picce NO-EB2020916
a XTI 42 Knee fixator
m 7
:
) eI E Knee fixator 145 Set
' B#53]41D6.0X 150mm  Bone screws 2% Piece
HES|HPE0x 130mm  Bone screws 2% Piece
NO.YB2020913 I RIRE6mm Allen wrench 148 Picce
7T ¢ LRS C MERFP4mm Allen wrench 138 Piece
FIEKC E&T8®6mm Twrench 148 Picce
BEKERE LRS fixator 145 Set ol )
B53|41P6.0x 150mm  Bone screws | 63 Piece
FES|HHBDEOX 150mm  Bone screws 2% Piece
MR FEMmM Allen wrench | 8 Piece
LETREDEMmM T-wrench 130 Piece
NO.YB2020917

[ B & F 22 Pertrochanteric fixator

BHE To configure BE oy

NO.YB2020914

07

BIEHD LRSD

BT LRS fixator
BEE|$HD6.0X 150mm  Bone screws

fiZ® To configure | Oty B .
| 435 Piece

ﬁ$§ |§‘|‘HB¢6.U ¥ 150mm  Bone screws

AW AEFMm Allen wrench
FETRRDEMmM T-wrench

BEFEAIE

Pertrochanteric fixator

BG4 P6.0x 150mm  Bone screws
HES|§HHBDA.0x 180mm  Bone screws

A7 BIRFESmm
$T8®@EMmM

Allen wrench

T-wrench

| 1% sa

| 23 Piece
| 2% Piece
| B Picce
| 148 Picce

23 Piece
148 Piece
130 Piece

08



fserrer (fserrer

% - BEIIMNEESZRESR www.youbetter.cn

BRRERSE, RSREMUSRFAE.

INustrates configuration for reference only, a specific configuration to the actual subject.

BRrmEREeE, ARRERISEAE.

Mustrates configuration for reference only, a specific configuration to the actual subject.

1 HAY Straight type

LS Type  FTRMRS No.

| 18 Sel

| YB2020-053 | EHISIER Straight fexator
e YB2020-054 ﬁ-ﬁgl%{@é 0x130mm  Bone screws 437 Picce
L YB2020-055 | 75 HFE6mMm Allen wrench 138 Piece
NO.YB2020918 NO.YB2020919 YB2020.056 5] 2806mm T-wmench 148 Piece
i ?u#ﬁ%aﬁlﬁ]ﬂ” i Mini fixator joint motion type 5 B EHAZZ2 Mini fixator straight type YB2H20-057 Iﬁgﬁﬁm - Sl ‘; B ap
the YB2020-058 {5 50X 120mm  Bone screws 43 Picce
§ . y sl et bt e o T
i Mini fixator 1£ Set HEgHR Mini fixator 1E Set | YR2020-060 |J:€‘I:§30>5rnm ek 148 Picce 4
ﬁ FEEE|$®2.0%50mm  Bone screws | 43 Piece BEE|4®2.0x50mm  Bone screws | 435 Piece YB2020-061 | IR Straight fixator 12 Sot i
EJ WAHBIEFImm Allen wrench 138 Picce A7 A F3Imm Allen wrench 14@ Picce he | YB2020-062 | B7E5|$t@4.0X110mm  Bone screws 4% Piece !ﬂ
780 2mm Twtenth | 138 Piece 7820 2mm T ; | 148 Piece 5 . YB2020-063 p'gy‘-ﬁﬁ%Smm Allen wrench 130 Piece —
YB2020-064 | _F473RD4mm T-wrench 138 Piece ﬁ
g = -, s > YB2020-065 | JiIZE Straight fixator 135 Set E
5 . Bihe YB2020-066 | {§EE5|4t®4.0X90mm  Bone screws AE Picce ﬂ
o . YB2020-067 | A7SfaiRF4mm Allen wrench 13 Piece ==
% | YB2020.068 | £73D4mm T-wrench 148 Piece
—+
O v y
=8 NO.YB2020920 NO.YB2020921 LEHTE T type m
-U e ©
= RSB 3T 2K ?13"'1 Minirail horizontal axis lype HIREH F 2T Minirail lengtheners HE Type  F@ME No. & o}
= . W To configure . YB2020-069 | THIZ%E T type fixator 13 S.el g
= - — . . — i : YB2020-070 | BEES[$P6.0X 130mm  Bone screws 237 Piece =
qrg EERER Minirail horizontal axis fisator | 13 Set bt Sk Minirail lengthener | 13E Set %82 YB2020071 | F522|$HHBD6.0 1 50mm Bone screws 2% Picce ?.;
o BES|EHD2.0X50mm  Bone screws | 437 Piece BES|5t02.0x50mm  Bone screws \ 437 Piece L U YB2020072 | Py fASFEmm FTR—— 138 Picce o)
z P IR EIMM Allen wrench 138 Picce P97 3R F3mm Allen wrench 148 Picce YB2020-073 | _F4TEDEMM T-wrench 13@ Piece o
) L££78O2mm T-wrench - 148 Piece E4T8802mm T-wrench | 148 Piece YB2020-074 | THIZZE T type fixator 138 Set —
o+ YB2020075 | EE|4HO5.0X120mm  Bone screws 2% Piece 5
5 HhE YB2020-076 | {§75|$tHB®5.0x 130mm Bone screws 2% Piece S
=) e YB2020077  AAEHF6mMM Allen wrench 138 Picce g
o YB2020-078 | E4TEO5mm T-wrench 148 Piece a
= YB2020-079 | T T type fixator 195 Set 2
YB2020-080 ﬁ-ggﬁ-i-cbd 0x110mm  Bone screws 23 Piece -
ks YBZ"ZU%ZM NO.YB2020923 AR Voo BSIEHBOAOX 120m B Pl ©
HRIRFH IR EE Minirail vertical axis !ype {5 &5 28 AF Mini fixator A type $ CYB2020082 | I BEESMM F g 138 Picce
iCHE Toc i _ YB2020-083 | _|4T384mm T-wrench 138 Piece
EREHTR Minireil vertical axis fixstor = 1€ Set N T | YB2020-084  THRUSTHR  type fixator 198 Set
BE3/HO20x50mm  Bone serews 4% Piece - S e Ln ol et B e L e e
- . - : o S|4 O2.0x50mm  Bone screws | 43 Picee YB2020-086 375 HF4mm Allgiwenih 148 Picce
ﬁx\.ﬁﬁ-? mm Allen wrene # Piece BABEFEIMM Allen wrench . 138 Piece YR2020-087 |J:%'I$¢4mm Towrench 138 Piece

PREIETIFHZE Ankle fixator

09

BIE Type  RRE No

YB2020-088  ERCTIH IR Ankle fixator 14§ Set
8 YB2020-089 | HEE3|46.0X 130mm  Bone screws 4% Piece
L YB2020-090 | [(NAFAEFEMm Allen wrench 138 Picce
NO.YB2020924 NO.YB2020925 YB2020091 | E4]28Démm T-wrench 158 Picce
85557 Z22BA) Mini fixator B type 552 F Z2CHY Mini fixator C type ‘ YB2020-092 iﬁﬂé"’ﬁﬂ Ankle fixator 14€ Set
R & oot -. W | e |foamenn A 1 ree
P S ) Mini fixator B | 19E Set feut s Mini fixator C R E ‘ YB2020.095 }iﬂgffr:m e 1;5 Piis
B3| D2.0X50mm  Bone screws | 437 Piece BE|ED2.0X50mm  Bone screws | 437 Piece YB2020-096 | EREAE Ankle fixator 145 Set
7S BRFEIMm Allen wrench 130 Piece A5 A IRFE3Imm Allen wrench 138 Piece e YB2020-097 | fHEE3[4t04.0X120mm  Bone screws 4% Piece
F4T8802mm Forrench | 148 Picce F478802mm Towrench | 148 Picce 8 | YB2020-098  PIARIRFSMm Allen wrench 148 Piece
YB2020-099 | L£728®4mm Towrench 13 Piece

10



(SERINId) HEKIRIEZ

m
>
o
1]
=
=
o
=
>
]
—+
O
e
—
>
Q
e
2l
<
(]
e
-
—+
—

11

U serrer

T - BRIMBEESIRRSR

BrmENRSE, AEREURERE.

INustrates configuration for reference only, a specific configuration to the actual subject.

NO.YB2020926
FEE S5 (PEEK AIENE)1KEL, 283! Tibia fixator (radiolucent) LIS
CE To configure B oy
BEEE Tibia fixator 1
BES| £ DE.0x 150 Bone screws l 4
AR FHI-HS Universal allen wrench 1
E£78806mm T-wrench | 1
NO.YB2020927

NO.YB2020928

INEAESTFE ( PEEK AIESE ) Hybird kit fixator (radiolucent)

BRAA TS
BES|4$D6.0X 150
B ERED2 %300

i f R FH3-HS
AAEF10mm
B FHS
_FET88DEMmM

Hybird kit fixator
Bone screws

K-wire

Universal allen wrench
Combination spanner
Allen wrench

T-wrench

BXTZR(PEEK FIEN)CE, 85 Ankle fixator (radiolucent) LIS
BRRT R Ankle fixator
BEE|4O0X150  Bonescrews 1
i R F H3-HS
L4TED6MM T-wrench |

Universal allen wrench

— o B e

1
2
2
1
2
1
1
NO.YB2020929
LT EZE Ankle fixator
B To configure M Qv
BRRT R Ankle fixator 1
BAESIH60X1S0  Bonescrews |
HEEH2.5%250 K-wire 2
FE4H2.0x250 Kewire | 1
ik Combination spanner 2
ANAERF3Imm Allen wrench ] 1
AARMIMFSmm Allen wrench 1
AWAMHRF6mm Allen wrench |”

Ul serren

www.youbetter.cn

ErREN#SE, AKREMKERE.

Mustrates configuration for reference only, a specific configuration to the actual subject.

JAE 3 42 Universal type fixator
BE Type FRES No. B To configure

i o

- @ -% = YB2020-100 | THEIE G Universel ype fissor | 18 Set
m:? ,@ e~ { ] | YB2020-101 | #3I£®60X 130mm Bone screws | 4% Pece
*e YB2020-102 | FFEO#HEE13-16mm Open spanner 130 Picee
X YB2020-103 | RAMIRF4MmM  Allen wrench 148 Picee
YB2020-104 | PAFAIESTMM  Allen wrench | 14m Picee
YB2020-105 | _F4TEEMSMM T-wrench 1@ Picce

YB2020-106 | HEEFH Universal type fixator |~ 13§ Set
YB2020-107 | #%3|4®5.0x 120mm Bone screws 437 Picce
e YB2020-108 | FFLI#F10-14mm Open spanner |18 Piece
M YB2020-109 | AFSEEFAMM  Allen wrench | 1B Picce
YB2020-110 | UAMEFSMM  Allen wrench 148 Piece
YB2020-111 | _|4788D5mm T-wrench 1342 Piece
YB2020-112 | FE&EHR Universal type fixator | 135 Set
YB2020-113 | FEHEF|HP5.0x110mm Bone serews | 437 Piece
B I YB2020-114 _ﬁ_l.:_llﬁ?-]ﬂ—ltimm Open spanner I H’g Piece
5 YB2020-115 | AFAAMIEF4mm  Allen wrench 148 Picce
' YB2020-116 | AAMIEESMM  Allen wrench . 1340 Piece
yB2020117 | _E£TEROSMmM T-wrench 138 Pices.

FRESYEI2020a A MELE K, HitREBE L
No.YB9202**** Can configure non-compression/distractiontube and have same other configurations

E#AIF 28 Straight type fixator

HE Toe FRES No. B To configure
YR2020-118 | FHAE#RERE Universal type fixator | 135 Set
YB2020-119 | BE5|EHD60x130mm Bone serews I 437 Piece
*2 | YB2020-120 —:FH:Iﬁ—:F]Slémm Open spanner ' I:]"E.?im
X YB2020-121 | FAMIRF4mm  Allen wrench 14 Piece
YB2020-122 | FEAEFE10mMmM Combination spanner k 138 Picce
YB2020-123 | F4TSED@EMM T-wrench 148 Picce
| YB2020-124 | FAEZER Universal type fixator | 19 Set
| YB2020-125 | §%3$050X120mm Bone serews | 43 Piece
T vmoois | FFOBEFI0-14mm Open spamer | 148 Piece
YB2020-127 | AAREIRFEAMM  Allen wrench | 148 Picce
YB2020-128 | _E4T2®5mm T-wrench |1 Piece
YB2020-129 | HETEZE Universal type fixator 135 Set
YB2020-130 | BEI|HO50x110mm Bone screws 43 Piece
"l"f | YB2020131 | FFO3EFE10-14mm Open spanner | 1@ Piece
YB2020-132 | AAEIFEIMM  Allen wrench 130 Piece
| YB2020-133 | HETROSMM  Twrench 140 Piece

PR S YB204+ke R MEEACGH, HibRERP L .
No.YB9204**** Can configure non-compression/distractiontube and have same other configurations

(FEmes) RRARIES

m
*
—+
(1)
-
>
o
=N
>
s}
—+
o
=
v
—+
)
3
jo R
[}
b |
o
—~
-
o
L

12



’ BETTER
T i RN - BRINBEZIRRS

BrmENRSE, AHREMURENE.
lllustrates configuration for reference anly, a specific configuration to the actual subject.

NO.YB2020930
#E BT 28  Lateral limb reconstruction fixator

F=ER4%E 5 Product Features

- EE. HiRiE

- QIE/ N RDRE

~EYUBHBR, SEME, PEIERAIFIE
- AR, FHRSER

== Simple and casy to operate

== Small wounds and reduced pain

== Improve blood flow and prevent limb
necrosis by moving bones

== Low cost, the disease is not easy to
relapse

(EEmest) ABRHFIES

4% Size
®3.0. ®4.0. ®5.0

NO.YB2020931
[ EEERI2%  SkKin retractor

M
>
‘—r
)
=3
=
o8]
o
x
jsb]
-+
Q
=
w
'—r
joh}
=3
(o
o
=4
o
—

~-

=)
£

HUHE Size
@©1.5%250mm
©2.0%250mm

13

MODULAR
FIXATION SYSTEM

HAESXIEERE

= BAERAREH RS ERRS.

= FE T i AR v B 47 b T ARE AT R A2
ANETHR.

> RUPNABEATRARANE
(snap-fit), =& T RIELENLGE
TARGEIERS B

= T BB A AN, X TR
13 5 7 M AR AR R A SRR AT
=300

= TR T RENREMEMEE.

= R ERA EBUNAERR.

= SN BHL ANERAEMREARR
KHEATIRIE, RRS SRS EMER
.

-~ (EFE R BAT RS

Product features

== With the characteristic of advanced
technology and convenient usage.

== Independent arrangement of bone screws
in proximal and distal fractures.

== Apply snap-fit to the design which leads to
easier operation and less time.

== Enhance the sharpness of the fracture
vision by using Medical aluminum &
carbon fiber.

== Offer the best stability and elasticity.

=> Make the frame compactly.

== Design aiming at the complexity of the
fracture and loss of soft tissue and
considering both variety and convenience.

== Simple and effective usage.




fserrer

T - BRIMBEESIRRSR

NHISSMEESZZREHF, TR

Parts & instruments of NH I 5 external fixator

HAFEE & HFHEE %
Pin to rod coupling Rod to rod coupling

IEXPEEE
Peri-articular pin clamp

4TLISHBLE S

4-hole pin clamp

#SNo YB2020-134 RENo YB2020-135

#EENo | YB2020-136

HHENo ¥B2020-137

SR RIS S TTHN

Mitgsize | ©5/34  Hi

#HESize | ®5/3-4

_i_é_ﬂ,ﬁste ®5/3-4

 HifEsize | @5/5
HEL FHEN. €68 HhEFEH. 48

R R 588

Materal: Stainless steel. Aluminum  Maleral: Stainless steel. Aluminum  Materal: Stainless steel. Aluminum

PR FER. 288
Materal: Stainless steel. Aluminum

MINIS$H4F 3%

Pin to rod coupling (small)

MINFF#F 3
Rad to rod coupling (small)

=
i
L
—
un
(D
>
—+
5]
)
3
=
s
>
Y]
s
Q
i
v
-
(%3]
e
(D
3

Pin to rod coupling Rod to rod coupling
SN0 | ¥82020-138 | @SN | YB2020-139
FESize | ©5x3-4 HHESize = ©5x5
£48): PEEK ¥4+¥l: PEEK
Materal: PEEK Materal: PEEK

 #ENo | YB2020-140

s | 032

PR AER. A48

Materal: Stainless steel. Aluminum

GENo | YB2020-141
Fipssze | 93/3
R AR, A9

Materal: Stainless steel. Aluminum

e

Elbow joint mobilizer

fiE 35 13 i B =%
Wrist joint mobilizer

30° =251
30° post Straight post
fHESNo | YB2020-142 BSNo | YB2020-143
#issizo | @5 ffasizo | 05
e FEW HEE T

Materal: Stainless steel Materal: Stainless steel

HSNo | YB2020-144
Mpisize | 95

R R
Materal: Stainless steel

#HSNo | YB2020-145
Mffisze | 5

BB RER
Materal: Stainless steel

15

(fserrer

www.youbetter.cn
NHIO55pEEF LY, TH
Parts & instruments of NH I 5 external fixator
(¥
( B —, #.. I :
———— - =3 - | ;‘
B
EE EEREHF TRIEF %
Connecting rod Compression/Distraction single rod T wrench %
#HENo | YB2020-146 HENo | YB2020-147 #HENo | YB2020-148 %f
_%Sizg ®5 1 100-400 _ﬂ,ﬁﬁz& @5 _ﬂmsue #5 Vi
HE2488. miTg HHE: FHER. 241 HE: FER '

Materal: Aluminum. Carbon fibre

HESEF
Stabilization/Reduction wrench
HENo | YB2020-149
HifEsSize  #15
HEAER. 4858

Materal: Stainless steel. Aluminum

FE{LrE
Guides
i ENo | YB2020-152
HpEsize | @344
HEL FHR

Materal: Stainless steel

Materal: Stainless steel. Aluminum

i

Hand drill
#SNo | YB2020-150
% Size | 4

HRL R, A4

Materal: Stainless steel. Aluminum

L
Thumb wheel

HSNo | YB2020-153
MiEsSize | #517
i AE8

Materal: Aluminum

Materal: Stainless steel

f——x

=
ac
==
un
[
>
-+
(1)
e |
=
=
=
>
o}
s
o
-
v
-
W
-+
3

LTETe%

Screw driver
BENo | YB2020-151
ikSize | ®3M

L FER
Materal: Stainless steel

TFORF
Open spanner
S No | YBEDZD_-154
HpEsize | #4i5. #6/7

R RER
Materal: Stainless steel

16



SN KRB E S TTHN

=
o
—
s |
un
(D
>
—+
D
-
=}
L
=
>
s3]
-
&)
1
1%)]
~
v
~t
M
=

17

% - BEIIMNEESZRESR
NH Il 55 Bl 7E 37 Ze a5t £
NH [I 5 external fixator instrument boxes
Fs FE B RS g HE
No.  Product Name Product No. Specification Qty
HHEER
' Pintorod coupling | YB2020-155  ®5/3-4 12
R .
2 Rodforod coupling YB2020-156  ®5/5 12
3 | GEHEER | 8220157 | o834 | 3
EXABEER .
4 Peri-a?ﬁlar pinclamp | 182020-158  ®5/3-4 1
|HX
: -Siraight post YB2020-159 5 2
30° o _
6 30" post YB2020-160 @5 4
YB2020-161  ®4x130 = 4
YB2020-162 ®4x120 = 4
BXRE#HBESH :
7 Self driling/Self topping = YB2020-163  ®4x 100 4
| bone screws |
YB2020-164 ~ ®4x80 4
| YB2020-165 ®3x80 | 4
e S —
8  Guides lYB2020f16,6 ©3-4 I
YB2020-167 ~ ®5x250 = 2
YB2020-168 ~ ®5x200 = 4
| '
Y |Camon fitve rod YB2020-169 ®5x180 | 2
YB2020-170  ®5x150 = 4
YB2020-171 | ®5x120 | 2
o MXTEHE 20 v . _
10 Eigow joint mobilizer  YB2020-172 @5 l
|TRIER F
1T itwench YB2020-173 #5 1
. BRESMRT \ —
12 S oboion/Reducionwench | YB2020-174 | #15 |
=5
13 Hand il YB2020-175 @4 1
4 kg . _
14 sciow ariver w76 o34
Bttt
15 rormbwhasl YB2020-177 #5/7 1
i 2RbA _ _
G e nt et YB2020-178 i

Ul serren

www.youbetter.cn

AREEXH‘SE, ARRELSEAE.

Mustrates configuration for reference only, a specific configuration to the actual subject.

NO.YB2020932
R FEXTE! Una&Radius spanning external fixator

HHBERDS/S Rod to rod coupling 4
AURHERROS/34  4hole pinclanp :2_.
30° HHEPS 30° post 4
HERHTDS X 200mm Carbon fibre rod 2

4

AXE S HE|$O3XB0MM  Self drilling/Self tapping bone screws |
MSfE: Bf. $# Used for: Tibia, Radius '

NO.YB2020933
R#EA Una&Radius fixator
AZE To configure & oty

HITEERDS/5 Rod to rod coupling |
AZMFEEROS/34  holepinclamp. }
BHEHOS Straight post
FERFPS5 % 200mm Carbon fibre rod
EJ&E SEBET|$HOIx80MmM  Self drilling/Self tapping bone screws
FEMTE: WE Used for: Forearm

NO.YB2020934
R#E% Una&Radius fixator

El To configure

ST K AHE S G THN

o= N NN

FATE R RO5/5 Rod 1o rod coupling ‘ 1
EXFEERDS3-4 Peri-articular pin clamp | 1
HERET®S5 X 200mm Carbon fibre rod ‘ 1
B A4 03X 100mm Self drilling/Self tapping bone serews | 4

SERE: R 4§ Used for: Ung, Radius

NO.YB2020935
2555 Wrist joint fixator
fic & To configure B o
BT EREEDS Wrist joint mobilizer 1
SHFEERDS/3-4 Pin to rod coupling 4

B A#EES$03x 100mm Sdrddlling:selruhping bone screws | 4
ERHE: XY Used for: Wrist joint

NO.YB2020936

IEZER Mini-fixator(Finger&Palm)
MINIREHF 5 D3/2 Pin to rod coupling 2
FEHAT D3 %80 Carbon fibre rod ‘ 1
BES|HD2x 60 Bone screws | 1

WERE: H¥EHF Used for: Finger,Palim

=
Gls
—
U
®
>
-t
™
|
=
L
=
X
S
-+
(@)
b |
L7y
<
W
-+
®
3

18



SN KHAESE G TTHN

=
o
—
s |
un
(D
>
—+
D
-
=}
L
=
>
s3]
-
&)
1
1%)]
~
v
~t
M
3

19

’ BETTER
e s RNE - BRIBEZRRLS

BrmENRSE, AEREURERE.

INustrates configuration for reference only, a specific configuration to the actual subject.

NO.YB2020937

A5 %Y Elbow joint fixator

| EETcer  HEOy
B X EEIEROS Elbow joint mobilizer 1
EHFF 2R D5/3-4 Pin to rod coupling l
EHASEES|G4x 120mm  Self drilling/Self tapping bone serews 4
SERfE: MEEH R Used for: Elbow joint fracture

NO.YB2020938

JEE T EH7 Humeral shaft external fixator

[ EEDomes  HEOy
T BEIERDS5/5 Red to rod coupling _
AFLENEHE R R D5/3-4 4-hole pin clamp ‘
30° FHOS 30° post
FEHAFO5 ¢ 200mm Carbon fibre rod ‘
B EHBEED P4 120mm  Self drilling/Self tapping bone screws :
HEGE: BEEAF Used for: Humeral shaft

N L

NO.YB2020939

i imE+HT Proximal humerus fixator

e To configure’ & Qy

HHEERDS/S Rod to rad coupling 4
FHTEERDS/3-4 Pin to rod coupling | 2
A7 RET B ERD5/3-4 4-hole pin clamp 1
FERFO5X250mm Carbon fibre rod | 2
EEFEHFOS5 X 200mm Carbon fibre rod 1
30° ZHDS 30° post | 2
ENAYBEEE|H04x120mm  Self drilling/Self tapping bone screws 4

SERIE: BEEMESMEE Used for: Proximal humerus, Condyle neck

(fserrer

www.youbetter.cn

NHIO 8/ EIEZZEHE, TH
Parts & instruments of NH Il 8 external fixator

=
-
£5)

AT EIE 3% HHFEESE 5L EER B
Pin to rod coupling Rod to rod coupling 5-hole pin clamp Tube to rod coupling
HSNo | YB2020-179 fiSNo | YB2020-180 SN | YB2020-181 fSNo | YB2020-182
ﬂ%s-ze ©8/4-5 ﬂﬁss-ze | @8/8 ﬂﬁ&w ®8/5 _iIH_ﬁSize | d20/8
HE: RN 4818 HE: AHER. A618 HEL FER. 4818 HE: THER. a8
Materal: Stainless steel. Aluminum Materal: Stainless steel. Aluminum Materal: Stainless steel. Aluminum Materal: Stainless steel. Aluminum %
— m
) ™ o
p_ x
—+
(1]
|
> |
o
= e
Q
=t
o
b |
w
P
§HFEIE k& FHFE E 3 30° M B =
Pin to rod coupling Rod to rad coupling 30° post Straight post 3
#SNo | YB2020-183 FSNo | YB2020-184 fRENo YB2020-185 RENo YB2020-186
#ifFsSize  ©8/5-6 HiHESize | ©8/8 HiisSize | o8 HikESize ©8
L PEEK FHi}: PEEK R RN L TEHEWR
Materal: PEEK Materal: PEEK Materal: Stainless steel Materal: Stainless steel
BRXT A BEXTiAhaE
Ankle joint mobilizer Knee joint mobilizer
RSN | YB2020-187 HTBNo | YB2020-188
_i:ﬁ_.’fﬁSize | o8 NiESize @8
LA HEL TN
Materal: Stainless steel Materal: Stainless steel

20



U serrer (fserrer

s - BEIINEEZRRS www.youbetter.cn

NH I 84pEEZZ23EH &
NH Il 8 external fixator instrument boxes

NHI8/EIEZZREH4, TA
Parts & instruments of NH Il 8 external fixator

21

z ﬂ FS  FRER FRAS  am yEllz
= // 4—\\ \ = ) No. Product Name  Product No. Specification Qty =
= 7 1\ ) -_u s . HIFERSE ' 0o
51\ [l ‘ > - 1 Pin to rod coupling YB2020-201 . D8/4-5 12 9
g . FATEER )
= ' - 2 : : YB2020-202 ©8/8 12 B
= SIS ST B AT oM GoURINg =
Semi-circular curved connecting rod Connecting rod Compression/Distraction rod SHETEER \
5 3 Fholepinciomp | YB2020203 | @8/5 3 ==
BRBNo | YB2020-189 RENo | YB2020-190 BBNo | YvB2020-191
e HiHkSize | 08160, 93<18D. 68x200mm HHkSize | BB KI¥100-400mm HitEsize 020 4 HXE YB2020-204 ®8 2 21
= MR . Heyna sew N ra— 2
: L AlLmInU o . uminum : il . uminu 2
% . 5 130 ot YB2020-205 o8 4 %
[ YB2020-206 ©5x% 180 4
s | =
— — AW EsBE| s YB2020-207 | ®5x150 | 8 —
00 6  Self drilling/Self tapping 00
- — A bone screws YB2020-208 = ®5x130 | 4 ©
o ‘m . o
= nEESE A< AT T AT TRIRTF YB2020-209 = ®5x120 4 =
n:: Compression/Distraction single rod Compression/Distraction double rods T wrench g
— #SNo | YB2020-192 H8No | YB2020-193 HENo | YB2020-194 7 EU{%%S YB2020-210 D5 1 =h
= MfkSize | 8 Higsize | o8 FAESize  #7 i A
a R FEHR. £ MR FENR. 448 BRI YB2020-211 | ®8x350 2 =
b Materal: Stainless steel. Aluminum Materal: Stainless steel. Aluminum Materal: Stainless steel =
v YB2020-212 = ©8x300 2 2
P g IEHEAT | P
= Carbon connecting rod — o
Y| | commmmm— | paman|seao 4] E
£ s oy e : YB2020-214 ~ ®8x200 4
RESURF M AHiEF SR !
Stabilization/Reduction wrench Torque wrench Hand drill YB2020-215 D8 x 160 1
HENo | YB2020-195 BENo | YB2020-196 {ENo | YB2020-197 o FHES L {
sifisize | #22 Misize | #7 fffsize | 05 R anedamegl | ypona0-216 | ©8x200 | 1
T o g X o N
ateral: INI2ss 5 ~ uminum aterall slainless A uminum El 4 iniess Sl - Lminuinm IO Tﬁﬁ% YBQ{)ZO.Q] 7 #7 _I
N Twrench .
BESMRTF .
'l T Gobizaionjzeductionwencn 02020218 1 #22 ]
A MOERF
——— 12 Torque wrench YB2020-219 #7 1
SEHR
13 Hand drill YB2020-220 @5 1
LETRE Ef#R HiER T8 -
Screw d?‘ruer Guides Thumb wheel i Screw driver Y82020-221 @35 1
#iSNo | YB2020-198 fHENo | YB2020-199 HSNo | YB2020-200 ek
MiSize | 05 Missze | 05 ks | e 15 [ YB2020-222 | #5/7 1
. 2 5 é.
Mammféﬁ;éﬁless steel ﬁ;ﬁﬁf&ﬁlws steel ﬁaﬁml: ﬁlﬁnum 16 ﬁ%em set YB2020-223 1

22



U serrer Ul serrer

s - BEIINEEZRRS www.youbetter.cn
ARRERGSE, AGRENRGFE. RARERSE, AKRENRGRE.
INustrates configuration for reference only, a specific configuration to the actual subject. Mustrates configuration for reference only, a specific configuration to the actual subject.
NO.YB2020940 NO.YB2020944
f& &1L % 53T Proximal tibia external fixator S EE Pelvic fixator
A E To configure = Oty TiEE To configure & Qty
FHEEROS/8 Rod to rod coupling 4 HFHEERDO8/8 Rod to rod coupling 6
- SHFEZ S D8/4-5 Pin to rod coupling | 3 ST ERRPE/S S-hole pin clamp 2
T SHLAREH B RO8/5 P~ | 30° FA08 e 2 =
= 30" SchE08 50" pos | 2 SERFOBXI00MM  Cabon brerod 2 =
91\ IR S D8 180mm Semi-cireular curved connecting rod 1 EEFO8 % 200mm Carbon fibre rod 2 9]\
B R ATD8 X 250mm Carbon fibre rod [z B A BEL| HD5X 150mm Self drlling/Self tapping bone screws | 4
E B EEEEE|H®5X 150mm  Self drilling/Self tapping bone screws 5 ERESE: H#2 Used for: Pelvic E
sEReE: ERHNES Used for: Proximal tibia
b= - - NO.YB2020945 b=
= NO.YB2020941 R EIZE  Ankle joint fixator z
5 5 ~
Zl BT ST Femoral shaft fixator ; A TR ectpes AR Qv g o
T g HFEES08/8 Rod to rod coupling | 3
. o configure _ ty ﬁﬁﬂzﬂd’afﬁ Pin to rod coupling | 4
B ERD8/8 Rod to rod coupling | 2
T EERD8/4-5 Pin to rod coupling ‘ 4 D8 X 250mm Carbon fibre rod ‘ 2
. HEHEFF DB x 200mm Carbon fibre rod ‘ 1
EE7 08> 200mm Carbon fibre rod | ] ETEBERISO5X150mm Self drilling/Sclf tapping bone screws| 3
FEEAFO8 X 250mm T DL |2 AR A%ERS|HO4x130mm Sek&ﬂlhayselfhppmgp?' : B s | i
1 ECTEWS
AR AHZESO5X 150mm  Self drilling/Self tapping bone screws| 4 : — ' ‘

EafE: BExT Used for: Ankle joint

BRHE: [RET Used for: Femoral shaft

- iy,

NO.YB2020942 NO.YB2020946
HIATZ ( FRAERY ) Half ring fixator(Standard) fEEiTim7 %2 Proximal tibia external fixator

2 To configure B oy T To configure i Oty

z =
= = E
= e
o |
o Co
= 5
a >
] -+
= m
S e
o =
= 2
= =
3 >
3 Y]
] —+
> 2
> -
< 1¥]
G -
3 175
® -+
3 )
= 3

H#EERDB/8 Red to rod coupling & TR E R D8/ 4-5 Pin to rod coupling 4
S7LiNEHE 2 RPE/S §-hole pin clamp i 2 TR 25 8/8 Rod 10 rod coupling 5
30° - FHO8 30° post 4 F LN EIEHRD8/5 5-hole pin clamp ]
FEEH D8 X 300mm Carbon fibre rod | 2 30° ZHO8 30° post 2
HEHEFTD8 % 250mm Carbon fibre rod 1 IESO8x 160 Semi-circular curved connecting rod 1
EBAHBESIEHOSX 150mm Scf drilling/Self tapping bone screws 4 R OB X 200 Carbon fibre rod 3
WERE: B®. BB Used for: Tibia, perone BOASEESISSX150mm  Self drilling/Self tapping bone screws 5
EHAE: B/ Used for: Tibia
NO.YB2020943 NO.YB2020947
; = o .
e g imE4T Proximal femur fixator BXTHE An Ie joint fixator
fic® To configure & Quy . e E 1'heur= | i oty
HiTEER®8e/8 Rod to rod coupling 4 HHEEEGDSH-S Binicrod ompBiig | 2
S}Lﬂﬂﬁ E}Emﬁ,‘s S0l N0 clmp 2 ﬂ'ﬂ:ﬁﬁ@af 8 Rod to rod coupling l 2
30° XH®8 30° poat 4 AR EERDE/S S-hole pin clamp | 2
FeHEFTOB8 X 300mm Carbon fibre rod 2 30° ZHOS 30 post ‘ 5
B BE[4O5X 150mm  Self drilling/Self tapping bone screws| 2 ﬁ&ﬁma X200 Carbon ifbm rod | 2

ERE: BET Used for: Ankle joint

SEREEE: KGB#EEE Used for: Perfrochanteric R o T
23 24




’ BETTER
e o RNE - BRIBEZRRLS

BRRERSE, RSREMUSRFAE.

INustrates configuration for reference only, a specific configuration to the actual subject.

NO.YB2020948

JEE5522 Knee joint fixator

SHTEERO8/4-5 Pin to rod coupling | 3
% FRAT B2 8/8 Rod to rod coupling 0
= SILEHE E R DE/5 S-hole pin elamp 2
o2} 30° A O8 30° post \ 4
él‘ 918 % 200 Connecting rod 1
{338 x 250 Connecting rod ‘ 2
E 88X 300 Connecting rod 2
i S Semi-circular curved connecting rod | 1
:% A ESBES45X150mm  Self drilling/Self tapping bone serews| 7
%_ BRTE: %P Usedfor Kneejoint fraciure

=

o

= NO.YB2020949

o FEES Knee joint fixator

E i To configure & oy
3 FitREERD8/8 Rod to rod coupling 2
i SHTREROS/4-5 Pl mod Gotpiing | 4
E HEX Rl iE o8 Knee joint mobilizer 1
o SF ERR®8/5 S-hole pin clamp ] ]
; 30° ZTHO8 30° post 1
é_ FEHFF OB x 150mm Carbon fibre stick ] |
g EHEBESH D5 % 150mm  Self drilling/Self tapping bone serews &

WERTE: BEXxT Used for: Knee joint

ﬁ*L |
NO.YB2020950

PR3 Ankle joint fixator
- ficl To configure

SHFER R D5/3-4 Pin to rod coupling | 1
SHHEERDS/4-5 Pin to rod coupling 4
BRPiERos Ankle joint mobilizer 1
AMEEBESISO3XB0MM  Self drillingSelf upping bone screws |
HITHSHES |5 150mm Self drilling/Self tapping bone screws | 4 A
FfufE: MEXH Used for: Ankie joint ' A

25

(fserrer

www.youbetter.cn
AONIYMEIEZRALZ LY. TH
Parts & instruments of AQ 111 external fixator
B EHHFELE X

Pin to rod coupling

#HSNo | YB2020-224
AlfESize | ©8/4-5
PR FHN. 4E

Materal: Stainless steel. Aluminum

FOFFFERE
Ringent rod to rod coupling
7S No YB2020-226
HiAgSize @8/
i FHN. 44858

Materal: Stainless steel. Aluminum

Fr O $HHF B E %
Ringent pin to rod coupling
@WENo | YB2020-228
Miusizo | ©6/4-5
B FER. 4858

Materal: Stainless steel. Aluminum

i ] 47 2 3
T clamp

SN YB2020-230

iiEsSize | ©8/4

B FER. 288

Materal: Stainless steel. Aluminum

HHFEIE 3
Reod to rod coupling
GSNo | YB2020-232
AHSize | 98/
R FHER. 588

Materal: Stainless steel. Aluminum

Pin to rod coupling

HENo | YB2020-234
MtESize  ©11/5-6. ®8/3-4

L FEH. 428
Materal: Stainless steel. Aluminum

Pin to rod coupling

SN0 | YB2020-225

HifEiSize | ®11/5-6

R RSB, A28
Materal: Stainless steel. Aluminum

FFOATFAT Bl 3
Ringent rod to rod coupling

BENo YB2020-227

¥iHisize | ©11/11
L FER. o8R8

Materal: Stainless steel. Aluminum

FrO$HHT Bl E 3
Ringent pin to rod coupling

fR8SNo | YB2020-229
Hiksize | ©11/56
R B, 480

Materal: Stainless steel. Aluminum

e s Bl E X

T clamp

R/ENo YB2020-231

Miesize | ®11/5

HH: FER. 248

Materal: Stainless steel. Aluminum

T B E 3
Rod to rod coupling

B8N0 | YB2020-233
Hipisize | ®11/11

R RER. &80

Materal: Stainless steel. Aluminum

FHFFERER

Pin to rod coupling

HSNo | YB2020-235

Migsize | O1/6
. FEH. 848

Materal: Stainless steel. Aluminum

>
o
=
8
EE
:
4t
r
o
o
5
5
=1
>
&
8
3
®
3

26



U serrer (fserrer

s - BEIINEEZRRS www.youbetter.cn
ACO IS EIEZRAZEEF,. TR AO MISMEIE ZZesM B 1
Parts & instruments of AO 111 external fixator AQ 11T external fixator instrument boxes |
> FE FRER FERES >
o No. ProductName  Product No. Spe o
- FHTEIER =
5!5]\ = 1 ;%,#0 edcoupling | YB2020247 | @8/45 | 8 5=|\
e ] .
£3 1% 2 'Rad 'ro rod coupling | YB2020-248 | ®5/8 4 5
= YRR S AT () MRS e 3 | redcouping | YB2020249 | @11/56 12
i Semi-circular trapezoidal curved rod Trapezoidal curved rod Curved red x| ﬁﬁﬁ% : YB2020-250 I o1/ 4 i
;’ﬁ #BNo | YB2020-236 BENo | YB2020-237 HHENo | YB2020-238 4 Rodto rod coupling ;‘g
= HifiSie | ©11. 08 MHsize | @11, 8 fifisize | 011, 08 § |[ian e YB2020-251  ®I11/5 | 2 B
EN & TERN. 4 EH. S8
gt- Eaﬁral swﬁmﬁmﬁ Aluminum Eaﬁral: s:aﬂesss%f Aluminum gaﬁra?:m?;less steel. Aluminum YB2020-252 Idﬁéx 150(HB) 2 gt-
YB2020-253 ®5x150(HB) 4
> A BES|§ YB2020-254 ®5x150 @ 4 >
(@) —— R :‘f‘ 8 = Tt 6 Bone screws - O
P YB2020-255 & ®5x 130 4 —
=i | o |
5% E#F FOHRF AT YB2020-256 ~®4x110 | 4 H
?i Carbon fibre rod Open spanner Combination spanner YB2020-257 ©4%90 4 5
® HSNo | YB2020-239 SN0 | YB2020-240 HSNo | YB2020-241 = ®
=l iEsize | oBofr. Ki100400mm HfESize | 10/14. 13/16mm HAEsize  10mm. 13mm YB2020-258  ®11x350 = 2 3
;:r\‘.. ﬁgﬁmﬁiﬁm steel, Aluminum “Y3202U-259' | ©11x300 | 2 g
) YB2020-260 = ®11x250 @ 2 €
(o] 1 (o]
:; =S —— AT e —_—— ——— (Y G YB2020-261 D11 %200 2 :
P 7 [EHE YB2020262 | ®11x150 2 G
= Carbon fibre rod L { ™
3 IERE AT S EE AT YB2020-263 ~ ®8x300 = 2 3
Compression/distraction rod Compression/distraction rod YB2020-264 | ®8 x 250 2
#HENo | YB2020-242 HENo | YB2020-243 - [ -
MSW i 8 FiESize _- YB2020-265 _ ®8x 200 2
inaian Sabyess st e Sl st Y82020-266 | ®8X150 | 2
YB2020-267 ®2.8x200 2
B . -
P YB2020-269 ®4.8x200 2
- RINE .
9 | Thpered frocor & guide | Y82020-270 @4, ®5, @6/ 1
YB2020-271 D4 1
L£T38 -
InE=% RIPE E£T3% 10 T-wrench Y82020-272 ®5 !
Pressurizer Tamfﬂd trocar & gLFPdE T-wrench Y52020'273 mé 1
HENo | YB2020-244 SN0 | YB2020-245 {ENo | YB2020-246
Hgsize | o1 #HifkSize ©4. ©5. O6 #HRSize | 0. 025 03. 035. O4. 05, 06 N ?ﬁnﬁiﬂon spc:nner! YB2020-274 10mm 2
HE: FEHEN 7 TEWR R TER A
Materal: Stainless steel Materal: Stainless steel Materal: Stainless steel 12 |n?1-|§rﬁ§ﬂ set YB2020-275 AO- 18 L

27

28



U serrer

T - BRIMBEESIRRSR

AO IIYMEIFEZ ZR2ai Bl I

(fserrer

www.youbetter.cn

AO TSP ElE 32 SR 25 & I

AO 111 external fixator instrument boxes Il AQ 11T external fixator instrument boxes IlI

29

> F8 FRER  FRES K TEERER  RERS Ak NE N >
o No. Product Name  Product No. Specifi Product Name  Product No. Specification Q o
et
5,5'\ 1 %gﬁg%%d%mupﬁng YB2020-276 = ®8/4-5 8 | l@;ﬁ?%{fﬁfﬁng YB2020-305 | ®11/5-6 | 12 EI‘
IF OFF4F E 2 =
p |FLUTHEER o veo20277  oss | 4 -
&l o | o HHEER Vw2306 olise 9 |
E 3 Ringentpintorodcouping YB2020-278  ®11/5:6 12 ingen couping E
' FFOFFAFEER T
% 4 ]%;’%"gﬂmm"g] YB2020-279 ‘ ®11/11 | 4 3 'fmc%ﬁﬁgiﬁ YB2020-307 ®11/5 ) %
i YB2020-280  ®11/5 2
: - YB2020-308  ®6X150HB = 2
2% | YB2020.281 ©6x150(HB) 2 %
YB2020-282 ®5x150(HB) 2 YB2020-309  ®6x130 | 6 |
> BEs ¢ YB2020-283 ®6x130 | 6 =
o 6 Bone screws | 4 g’ﬁglﬁ YB2020-310  ®5X150HB = 2 O
= ¥82020284 ©5X130 | 6 ne screws ol
— YB2020-285 ‘ @5%110 | 4 YB2020-311 | @5x130 ] =
] H M
= Y ®4x9 4 >
o RB2020:8s X90' | YB2020-312  ®5x110 | 4 @
5 YB2020-287 | ®11x350 @ 2 3
o] -
= YB2020-288  ®11%300 | 2 YB2020-313  ®11x350 | 4 o
x ' T T x
o
% YB2020.289 ®11X250 2 R R— =
> S YB2020-290  ®11x200 @ 2 - | =
7 . ! - | Z
G Corbonfiorerod | vp2020.291 = ®11x150 | 2 5 | Coonfibrerod | 182020-315 | ®11x250 | 4 gpg}
o - - f . ®
3 YB2020292 ©BX300 | 2 Y82020-316 = ®11x200 4 =
| YB2020293  ©8x250 | 2
vaa000294 | oewaco | 2 YB2020-317 | ®11x150 | 4
| YB2020-295  ®8x150 | 2 YB2020-318 = ®3.8x200 @ 2
YB2020-296 ®2.8%200 2 6 g}ﬁﬁ)ﬁs
i YB2020-319 = ®4.8x200 @ 2
g | YB2020-297 ®3.8x200 | 2 |
YB2020-298 ®48x200 | 2 7 (B coraguide | YB2020-320 |04, ©5. 6 | 1
SRk .
? Tﬂpefed ?{OCﬂr&gUide YB2020-299 @4, @5, ®6 L YB2020-321 D5 1
YB2020-300 4 ] g LOH
gTae “wrene YB2020-322 @6 1
100 |55t ranch YB2020-301 ®5 1
YB2020-302 6 |
| | 9 |BRET o onner| Y82020323 | 10mm | 2
BARE ) ombination spanne
1" YB2020-303 10mm 2
Combination spanner AOSEH &
AOEH A 2020-3 : 10 YB2020-324  AO-TE | 1
12 jnstrument set ‘ L 04| AO-NA | 1 Instrument set

30



U serrer (fserrer

s - BEIINEEZRRS www.youbetter.cn
BRRERRSEE, RBEEURGHE. RRRENHKSE, AKREAKEALE.
lNustrates configuration for reference only, a specific configuration to the actual subject. Mustrates configuration for reference only, a specific configuration to the actual subject.
NO.YB2020951 NO.YB2020955
ZFEZE ( THY ) Pelvic fixator THIZE Ttype

A To configure  HR o @ H To configure W Quy

FOSHFERERDS/4-5 Ringent pin to rod coupling : 4 EEHEFEHERERO1/56  Pinto rod coupling 4
- FOFFAEARCS/E  Ringent rod o rod coupling | MEAEHREROI/S  Teclmp 1 -
o) RAHATEERDOS/4  Telamp R EHFO11%300 Carbon fibre rod | (o)
E FHDO8X 100mm Carbon fibre rod | BEZ|4O5X130mm  Bone screws 4 =
gi\ FF D8 X 200mm Carbon fibre rod _ 2 B g|4tHB®S % 150mm  Bone screws | 2 &l\
& B O4X 100mm  Bone sorews | 4 s R B Used for: Femur, Tivio &
E BE5|$HBD4 X 100mm Bone scrows 2 &
% AR ER. BR. S8 Used forProximal humerusaiibio&adiacent joinfs NO.YB2020956 =
£ EARZR (EBBHr) Straight type E
% R To configure
G NO.YB2020952 SHFEERD1/5 Pin to rod coupling 4 ?ﬁ
SETREYZE Half ring type HO11 x250mm Gatbon fibre tod ]
> i To configure WS o BES|HD5x120mm  Bone screws ’ 4 b
@ FOEFFARERDE/4-5  Ringent pin to rod coupling ' 6 SER7EE: B Used for: Tibia ®
— FOAFTEERDS/8  Ringentrodto rod coupling 6 =
= FERBE S 08 okl curvedlod 2 NO.YB2020957 =
2 0830 Catbon e o B2 (REEYF ) Staighttype =
g MEEKAFO8 Compression/distraction rod 2 R To conngure g
5 B#E|4D4.0x120mm  Bone screws | SHIEERO!1/5 =Sr—— 4 o
in BEE: BRI, e Used for: Tibio&perone opend.closed E:FF@'I 1%x250mm Carbon Abre rod | 1 %
Q = = : = HES|4D6X120mm  Bonescrews L4 o
o NO.YB2020953 EEfE: BH Used for: Tibia ' =
< EE 37522 Tibial joint side fixator C.
- e R NO.YB2020958 %
3 FO4HTREEROS/4-5  Ringent pin to rod coupling | 7 T EHT Ankle Joint external fixator 3
FOAFEEROS/8  Ringentrod to rod coupling | 3 ER Toconfigure 3
HEFBH S OB Semi-circular curved rod . 1 HHEEERDI/S Pin t6 rod coupling 4
AR 308 CRi | HFHFEERCN/11 Rod to rod coupling |
FHO8x300mm Carbon fibre rod o FHO11 x250mm Carbon fibre rod 1
H#s$P4.0x120 Bone screws [ FHO11x200mm Carbon fibre rod ‘ 1
EREfE: BREEI%Y, MR Used forDistal tibial joint, proximal fracture FE2|4 D5 130mm  Bone serews ‘ 4
EEE: BXT Used far::Ankle Joint
NO.YB2020954
g2 %2 Condylar fixator NO.YB2020959
TEIZE Ttype
AOSHIBRROS/4S Ringnpintorodcowing | 6
FOAHFEERD®8/8  Ringentrod o rod coupling | 8 SHFEER®11/5 Pinto rod coupling 4
ST S D8 Semi-circular trapezoidal curvedrod | WEATHEEROI/S T clamp |
FAF (R 08 Trapezoidal curved rod | FHO11x300 Carbon fibre rod l ]
FHDOEx250mm Carbon fibre rod : 1 BE3|ED5x 130mm Bone screws 4
B2 40X 120 R I AAEI|4HBOSX 130mm  Bone screws | 2

ERIfE: BERZE Used for: Tibia comminuted

EEE: BERLR. BELE. TM#5 UsedforHumeral epicondyle fibial epicondyle distal frocture 32



SEIN A KRR I OV

g
o
)
.
-
"}
=]
3
g
=
>
o]
et
o
=
v
~<
w1
—
1)
=

33

U serrer

T - BRIMBEESIRRSR

BrmENRSE, AEREURERE.

INustrates configuration for reference only, a specific configuration to the actual subject.

NO.YB2020960

Z#EZa ( jn3EEY ) Z frame(Enhancement mode)

HTERRDOIN/S Pin to rod coupling |
HHBEEROI/ Rod 10 rod coupling |
FHD1T x200mm Carbon fibre rod
FHO11 % 150mm Carbon fibre rod

FEES| D5 130mm  Bone screws
ERSE: RBER Used for: Femur, Tibia

BES|$D5x% 120mm  Bone screws
BES|EFHBDS X 130mm Bone screws
ERFE: BAMERE Used for: Femur comminuted

NO.YB2020961
ZEIZE(THY) Z frame(T type)
B M To configure
SHFEERD1/5 Pin to rod coupling |
AHEERON/ Rod to rod coupling |
BEEFTEERDPINS  Tclamp |
FHDO11 % 100mm Carbon fibre rod ‘
FHD11 % 150mm Carbon fibre rod |
|
|

NO.YB2020962
FREER ( BREHT ) Straight type

HHFEERDIN/S Pin to red coupling |
HHAEZD/M Rod to rod coupling ‘
FHD11 % 250mm Carbon fibre rod ‘

BIES|EH D5 X 120mm  Bone screws
ISRIIE: |# Used for:Pelvic

R To configure #& Qty

B = NN A

& oty

MR RN — — NN

B E To configure #HE oy

A B N @

(fserrer

www.youbetter.cn

GY VMBI EZ ARG B
Parts of GY [V external fixator

r :'fl i

SR

Single rod clamp

H/ENo | YB2020-325
JMESize | ®8/45
RS

Materal: Stainless steel

GICE: S0
Double rod to rod clamp
HSNo | YB2020-328
Mpisize | P8/6
L FHEE
Materal: Stainless steel

B
Trapezoidal curved connecting rod

4 SNo YB2020-331
HAiSize | ©8

R R
Materal: Stainless steel

INEREH

Compression/distraction rod

HSNo | YB2020-333

ffkSize | @8

&M
Materal: Stainless steel

i
-

B

Double rods clamp

WSNo | YB2020-326

Mfgsize | o8/8

Male;sl: Stainless steel

M E T

Curved connecting rod

#SNo | YB2020-329

Mffisize | 08

PR R

Materal: Stainless steel

WHEHE X
Double rods pin clamp
HSNo | YB2020-327
fifesize | v8/a-5

MR THR

Materal: Stainless steel

SENAEATE 2 AD

HEE
Semi-circular curved connecting rod

HSNo | YB2020-330
ffeszo | o9

R RN

Materal: Stainless steel

@)
=<
=
M
>
il
M
=
-
~.
=h
<
(]
—_
o
i |
v
~-
w
—
1
=

BT

Stainless steel connecting rod

{HSNo | YB2020-332

#ifiSizo | 8 1/F150-350mm
L AEW
Materal: Stainless steel

=B e

I ERE AT
Compression/distraction rod
45No | YB2020-334
HfiSize | 08
MR FER

Materal: Stainless steel

34



Ul serren

s - BEIINEEZRRS www.youbetter.cn

AREEXH‘SE, ARRELSEAE.

Mustrates configuration for reference only, a specific configuration to the actual subject.

BM—&sL, AOII, GY VMEIERZSZTIR NO.YB2020963

Instruments of Nondetachable unilateral, AO IIl, GY IV external fixation system #5575 Mini-fixator(Finger&Plam)

btk Sk Mini fixator 1 o

- . | Ll e
g — —_— AARIEE4MM Allen wrench 1 v

L§78802.0mm T-wrench 1 Hps

ERAE: $5®/ Used for: Finger E,&

T E ERCTE HEs E

Wrench Template with handle Hto Instruments i

HSNo | YB2020-335 H#ENo | YB2020-336 HENo | YB2020-337 3
AESize | 4. 5. 6. 7Tmm ' Hi#ESize | 25. 35mm Hifssize  ©2.0. ©2.5mm ' ! ] | NO.YB2020964 %
E . <454 #h 2 ® . 2 i 1 Er“f"m' 1 ini=fi i $a
Mﬂaﬁmféﬁ;aﬁbss steel ﬁlﬁmféﬁﬁm steel Haﬁmfgaﬁbss steal ?E FH E: Mini flxator(Ferr&Plam) %

i E Toconfigure
S 3R Mini fixator !
BHES|HD2.5%60mm  Bonescrews 4
AABIRF4mm Allen wrench 1
E5T#®2.5mm T-wrench 1

RS fEEE Used for: Finger, Palm

5 c

MMHESENEIERE= AD .S oY P | S

(0]
-
=
i)
>
-t
{))
=
>S5
o
o 1
>
o)
bl
(@)
1
(73]
~
v
—+
i)
=

NO.YB2020965
HARET Lt FORF 255U Wrist external fixator
Hex wrench Combination wrenches Open spanner
fi ® To configure
#32No | YB2020-338 HENo | YB2020-339 HSNo | YB2020-340 -
iasize | 3. 4. 5. 6mm #AESize | 10mm. 13mm iESize | 10/14mm. 13/16mm . . BATVER Dok vk
el RN . BES|HD2.5x60mm  Bone screws

Materal: Stainless steel BES|EDPISK70mm  Bone screws

FETED2.5-3.5mm T-wrench
ERE: WXT Used for: Wrist joint

—_ M N -

NO.YB2020966

B2 Pelvic fixator

B E To configure & Qty

=T
e
—
=
 —
=3
D
=
—
(7
(=]
=
-_—
o
=
=
m
—
o
(=]
=
o3
=
m
=
=.
o3
et
(1]
=
Ll
>
(=]
—
-
(o]
-
=
m
=
(1]
=
=
o
—r
o
o
=
(=]
—
v
e
[
—*
m
=

B ESR08/8 Double rods clamp é
RIPE 4TS pe7e HIFLHERO8/4-5  Singlerod clamp 6
Tapered trocar & guide Screw driver Tension with pin ﬂﬂﬁﬁﬁ%mr‘n Curved of:m.c:i-ng rod 2.
fSNo | YB2020-341 f#eENo | YB2020-342 SN0 | YB2020-343 MEEACHD8mmM Comcssmnfdismmion rod 1
Hit4Size  ®3. ©4. O5. O6Emm HitESize | 02 25. 3. 35. 4. 5. 6mm #itESize | ©3/4/5mm Eﬁ-%x 150mm Stainless steel cannecting rod 3
el M HEL: TEW HES|EO5x130mm  Bone screws 7%
Materal: Stainless steel Materal: Stainless steel : ]

BRLE: B Used for: Pelvic

35 36



U serrer (fserrer

s - BEIINEEZRRS www.youbetter.cn

BRRRHSE, REREUSLEAE.

INustrates configuration for reference only, a specific configuration to the actual subject.

S

N RN = N o

HEIFEERDE/8 Double rods clamp |
ERE: BHERAN. A4 Used for: Tibio&perone opens.closed :

HATHERDE/4-5 Single rod clamp |
R EEDBmMmM Semi-circular curved connecting rod
HFFD8 % 300mm Stainless steel connecting rod |
7N S =HEIR = H-4FR
NO 'YBZOZ 0968 ﬁ-rz: Hin;; E:i:srmﬂe\mrs Hing: ﬁ;ﬁears HinEs}fvEli:nS}z;rs
TEXRT WA (ARAERL ) Tibial articular end frame (standard) RENo | YB2020-344 ®ENo | YB2020-345 HSNo | YB2020-346 SN0 | YB2020-347
HkgSize | o 0020 1010, W20 2 flESIze | K. B /N Wiigsize | k. . /b $MAESIze | K. .

NO.YB2020967 |
HTRAYVZE (FR/AERY) Semi-circular type(Standard) EBERERG, TH
MEZEKAFO8mm Compression/distraction rod l
BHEE| 4t D4x 120mm  Bone screws |
e A0E B AR e 2S8R ek AEE

Parts&instruments of cyclic annular external fixator
TRE To configure BE oy y
R D4 x 250mm K-wire
Materal: Aluminum Materal: Aluminum Materal: Aluminum Materal: Aluminum

SONAE

SRR 2 AD

IR EHE e DB/ 4-5 Single rod elamp
B RO8/8 Double rods clamp |

.8
3
R EOBmmM Semi-circular curved conneeting rod 1 . - - -y e
FHDEX300mm Stainless steel connecting rod | 1 ch;w Ty ."‘-:-._;:'-I‘::_'..;
AR EEDEMMK Gurrediconncoting rod B ’ \ f/ 4 N
HEE|$D5% 130mm  Bone screws s | : b
REHD4x250mm K-wire . 1 E % i X
I

i : '
SERfE: ERENEN. imE Used for: proximal,distal fibial g :
NO.YB2020969 5 2157k um . B
A EE222 ( n3EE! ) Femoral condylar fixator Hell fings 23 finge Footing e
. fRENo | YB2020-348 /SN0 | YB2020-349 _ #RSNo | YB2020-350 R/SNo | YB2020-351
A To configure & Ot $ksSize | ON U W0 0. . 0.2 Z0om  AUAESize | i 0. 2. 1. 1. 20 m  3UARSize | ®140. 160. 180  3WARSize | K. . /)
AT ERDOB/8 Boublcrolly dany 3 HR: AR HE A48 | FER HE: A8
AT RDB/4-5 Sla ety ‘ 5 Materal: Aluminum Materal: Aluminum Materal: Stainless steel Materal: Aluminum
AT E R DE/4-5 Double rods pin ¢lamp ' 2 33
B DO8mm Semi-cireular curved connecting rod ‘ 1 _ ;%'
B DB % 300mm Stainless steel connecting rod 2 :‘.'r—«—‘"—_‘ & & A —
SIS EE R DBmmE Curved connecting rod ‘ 1 Sgﬁﬁ :ﬁm TR
BEES| D5 130mm Bone screws 7 Annular diagonal tie
: Used for: proximal.distal tibial ' HSNo | YB2020-352 — YB2020-355
IEREE: BRI, I . proxima 1HESze | K. FoB. B 2y

15

2
=,
da
=
X
S
£r
O
5
(7]
<
w
—t
®
=

)]
<
=
)
e
-t
1)
=
-
s
=
<
Y]
—+
o
=
v
~
n
ot 6
1]
3

NO.YB2020970
B34 % Elbow joint fixator SUMARMAMAMRAY .

',‘5";[ ié *:F F AT 1 NIE] i ;s‘ ral
o i =5 SR TR
Rl To ’ B Q Packaged rod Annular tubes Spring Adjusting nut

S4B ROB/4-5 Single rod clamp 5 £ENo | YB2020-353 YB2020-356 YB2020-357 YB2020-358

AT EE ROB/8 Double rods clamp ‘ 3 Mpgsice | K. HOfk.

Eﬁmsxmmm Slﬂihlﬂ'sﬁ S1I5C'| mnncx:lingmd 4 TP '-‘."-_".-.:-."_r'--:_:'l_--!-".-|,'---|5--:;!::r|i 1 .-lrlirJ'.:rl'-_-l' R /. _} /I * Frml o

FAT©8Xx300mm Stainless steel connecting rod | 1 i M & m J

BRard (M6)

EFES|$D4x120mm  Bone screws . 5 Threaded rod e B SOk

JERIE: IM%F Used for: Elbow joint T Single joint Single joint Universal joint
f5No | YB2020-354 . YB2020-359 YB2020-360 YB2020-361

i0iESize | ©6x40-550 38




U serrer (fserrer

s - BEIINEEZRRS www.youbetter.cn

BRrmEREeE, ARRERISEAE.

Mustrates configuration for reference only, a specific configuration to the actual subject.

INEINBEIERG RS, TR

Parts&instruments of cyclic annular external fixator NO.YB2020971

JE4CZ2 Lower limb lengthening external fixator
ENAE: BE. REBEH WK

m—@—

Materal: Stainless steel

Materal: Aluminum

Materal: Stainless steel

Materal: Stainless steel

Used for: Tibia, Femur

) )
5 m NO.YB2020972 =
= 228 Orthopedic external fixator =
] FLETEE TR AW 1R B ST R0 SRGT A ERNE: BB LS. BE L &
g' et oo v [rmetied cxfoomn S el Used for: Humeral & tibial lateral epicondyle g’
3 #TNo | YB2020-366 _ #RSNo | YB2020-367 BENo | YB2020-368 HBENo | YB2020-369 .
é _%Size | @4, ®5 ?ﬁ_jﬁﬁm& 1-67L P = q‘{ﬁﬁ L a’:ﬁﬂ 2
:,_-1'_ BBl G el AREER Materal: Stainless steel Materal: Stainless steel ,[ﬂ.
1) m
= S

HEEHE LB ERAR BHFERER R KESRS

Nut column L connecting plate Connecting plate Tension with pin NO_YB2020973
Hi'5No | YB2020-370 5 No YB2020-371 445 No [ YB2020-372 S No [ YB2020-373 sl hio . .
i HsSize | .1-6JL ﬂ?ﬁsm 1. 4.5.6.7.89, 104 .%Sim [ 2-8L ﬂESiza [ ®1.5-3.0mm ﬂ;’{km ng fixator
PR T B T WL TEH R RS ERAE: BE. REEH
Materal: Stainless steel Materal: Stainless steel Materal: Stainless steel Materal: Stainless steel Used for: Tibia, Femur

" o~ A -'...-ii,{.;p"!,.. i
oo o !
2 AR EAC T §tHE $tFE(fiJE)
Cross connecting plate Inner threaded connecting rod Pin clamp Pin cicamp(Thickening)

®ENo | YB2020-374
fkgsize | 1-67
ek TR

Materal: Stainless steel

BSNo | YB2020-375

#fkSize | 60. 80. 100. 120

PR R
Materal: Stainless steel

B\BENo | YB2020-376
iﬂ#ﬁ&za | ©4. 5mm
MR W

Materal: Stainless steel

#SNo | YB2020-377
WigSize  ®©152. ©2-3mm
B TR

Materal: Stainless steel

S

ah M4 ST A s EHE B ER Lipi v s !
E Post with 4 edges Bush Paost with 6 edges Post &=
E ﬁ%Nn | YB2020-362 iﬁ-“—,—N_o YB2020-363 £ENo YB2020-364 #HENo I YB2020-365 E
F Mfsize | 1.2.3.4.5. 64 HfESize | ®4. 05. 06 HE: FER FHE: RS %
ﬁ Bl 4N HE: 244 Materal: Stainless steel Materal: Stainless steel %

NO.YB2020974
2/3FRHKZE 2/3Ring fixator
ENE: B BREBBH
Used for: Tibia, Femur

(== O

39

3L PRACRR

73 f iR BMe (/=) 2 AT AR B 5 (R
Drill bit stop unit Hex nut M6{Thickening) M6 bolt Rod to ring bolt Cone washer
ﬁ-%l_\_la | YB2020-378 HSNo ] YB2020-379 HSNo | YB2020-380 ﬁ_-%__-_ﬂp_. _|___YE|2020—331 ﬁ%No | YB2020-382
HRk T B RGN B RGN 5 HEL TR

Materal: Stainless steel

Materal: Stainless steel

Materal: Stainless steel

Materal: Stainless steel

Materal: Stainless steel

40



fserrer U serrer

MIF - BRIINEEZRASR www.youbetter.cn
BFRRNHRSE, RUEREULEAE. PR = @A 2 T AR
lllustrates configuration for reference only, a specific configuration to the actual subject. The size can be adjusted according to the customer’s requirement

WREBESIFT

Standard bone screws

o ;é--u— +0 4 i . -
IR RS- 7122 Ankle joint fixator I e ﬁ
ol /RS HExBE .. BOEE B oA
A ERAE: DEEAE. N8 e - No.  Dxifmm) "AME  ninmy mm) }E
. : A T 1 4
! 9" Used for: Equinus p - P ERARARRRREREY *.;*.,,.-J;,“p —— ‘ ; 82020401 | ©5.0%90 25 -E-
& | V82020402 | 5.0%100 25 =]
T BN YB2020403 | ©5.0%110 30 5|
ﬁ YB2020-404 ‘ ®5.0%120 20 i %‘1’
ﬁ TR DT NUD e LTINS . YB2020-405 | ®S5.0x130  HB @5.0 30 fé
ST ML —— — . I a
YB2020-406 | ®5.0%150 40 L W
I oh]
) YB2020-407 | ©5.0%180 a5 3
3 — - "
0 NO.YB2020976 &% H@XBK .., AKEE SQKE  HK il i | = 5
=h No. DxL{mm - D{mm mmj_ M YB2020-409 | $5.0%220 50 =
& INEZE Ring fixator ' ' ' o
’::'}_ YB2020-383 ©2.0x50 15 YB2020-410 | ©5.0%90 25 o
o BN BE. RBBF . , - .. L . =
= Used for: Tibia, Femur YB2020-384 | $2.0%60 HA &5 - - YB2020411 | 5.0x100 25 0
< t H { T YB2020412  ©5.0%110 30 2
17y | | ()
o TR P00 L YB2020413 | ©5.0x120 30 e s
3 'rszozmas‘mz.sxau ‘ ‘ 15 YB2020414  ©5.0x130 HA 5.0 30 i &
| | A YB2020415  ©5.0%150 | 40 Ti
YB2020-387  $2.5%70 HA 2.5 ‘ 15 S8
I %t YB2020-416  5.0x180 45
1
YB2020-368 | ©2.5%80 ‘ ‘ 5 YB2020-417 | ©5.0%200 50
YB2020-389 | ©3.0%60 18 Lt ekl 8
: ; q - 4 T YB2020-419 | 96.0%100 25
NO.YB2020977 HA | 030 S - --
ﬁ{u;g'** = YB2020-300 | ©3.0%70 2 18 &% YB2020420 | 96 0x110 e
Z5  Knee joint fixator ' i 1L T
TSR J YB2020-391 | ©3.0%80 18 YB2020-421 | P6.0x120 | 30 FHH
& RE ! E%-ﬁ_ ] | i Yammzz‘ms.amo HB 6.0 35 8
Used for: Knee joint YB2020-392 ©3.5%70 ‘ ‘ 20 FHH | . L%
| HA o35 $5 82020423 | $6.0%150 40 Ti
Ysm-aaa‘m.mo ‘ ‘ ﬁ mzozmza‘ms,ouwo 45
YB2020425 | ©6.0x200 s0 |
YB2020-394 | ©4.0x70 20 - |
| . Yamm‘ws.waa 25
YB2020-395 | ©4.0x80 25 YB2020427 ©6.0x90 25
YB2020-396 | 4.0x90 25 YB2020428:| 6.0%100 25
| . T YB2020429  ®6.0x110 30
020397 ®4.0x HA ®4.0 sS ' o
TRARER TR AR % % YB2020430 96.0x120  pa ©6.0 30 2
I Ti 1
YB2020-398 ®4.0x110 30 YB2020431  ®6.0%130 35 Ti
NO.YB2020978 : ' ' YB2020432  ©6.0x150 40
. YB2020-399 | ®4.0x120 30 ,
s Hh — g i — | | YB2020433  ®6.0%180 45
FH=HE=EIPEIEZEE Ring fixator X180 |
. YB2020-400 | ®4.0%130 35 YB2020-434 ©6.0%200 50
BENE: BE. BREBF i _ L

Used for: Tibia, Femur

41 42



BETTER ’ BETTER

T - BEIMNERESIRAS R www.youbetter.cn
. o v
B BB ES|§ 52 ECET SRR N 5T B
Self drilling/Self tapping bone screws K-wire Elastic nail Drill bit
" f "l { = =
IE - — = i
HE HE *E
ﬂ:’ M No. Dfmm) L{mm) |
YB2020-495 | 1.50 YB2020-529 1.0 115
B &% ki B ol YB2020-496 2,00 YB2020-530 | 12 s | ‘?r
= ho. Gl Limm) y YB2020-497 2.50 , A
=) . YB2020-459 0.80 ~vB2020498 | 300 | 0 ®AS T YB2020-531 15 115 J
2l RS  EExBK a0 BUEE SSIKE WK : S N L vemzs2 18 ne |
No.  DxL(mm D(mm mm M YB2020-460 1.00 o YB2020500 | 400 | 32020-533 | 20 5
> 100 R 5 YB2020-534 | 115 |
= bk il Rt L YB2020-461 1.20 » YB2020535 | 25 150 |
YB2020-536 200 5
K YB2020436 | ©3.0x80 20 | cem YB2020-462 1.50 BRI YB2020.637 l 115 |
£t YB2020437 | 93.0%90 i P 20 . YB2020463 080 K-wire with olive _YB2020538 | 28 10|
L% e FER = < > YB2020-539 200
8% Y82020438 | 93.0%100 25 n YB2020464 | 1.00 120 ss YB2020-540 115
s YB2020439 | ©3.0x120 25 XR2020-905" % = 5 et | e 2 #
YB2020-466 1.50  YB2020-543 115
YB2020440 | ®4.0x80 20 e Yozoenes | - s
& AEET Ut 2 YB2020-468 |  1.00 Fa® - - cleesand | ﬁfﬁ
= R . ’ 150 ss YB2020-501 1.50 _ . . _ 2
o L o 25 i o e i Ye20z0-302 ‘ 200 350 R S5 :gzoms-s?. I 35 g | A S L.
—L] s : . ] : YB2020-548
ET YB2020-443 | 04.0%120 30 % YB2020470 1.50 . beUel-alUs | el I  YB2020-549 s g
og : _ YB2020-550 3.8 150
= YB2020445  ©4.0%150 40 YB2020-472 1.00 o i . YB2020-552 115 &
o BN s Threaded guide wire YB2020-553 40 150 =
=) YB2020-446 | ©5.0%100 25 YB2020-473 1.20 ) : YB2020.554 | : i =5
= 3 T g | YB2020-474 1.50 —YDI0L0Se5 16 s
= YB2020447 | ©5.0%1 o . cul YB2020-556 | 42 150 =
o T PR = YB2020475 160 s YB2020-557 200 =
= T T g e YB2020-558 115 =
45 YB2020-449 | §5.0x150 | HA 5.0 40 ss 250 % = rrs Py e YB2020-559 4.5 150 =
= YB2020450 | ©5.0x180 s | T YRROEL:ATH 2 i - 2 i i 132020-551' ?1)2 2
> e TREETH| e T — Fow  Yeose | 43 150 z
g YB2020451 | B5.0%200 50 YB2020-479 2.00 O o 55 YB2020-563 200 =
= 75 PR 5 [ - — _ —YB2020:506 200 & YB2020564 g, 150 =
= 2020452 | S YB2020-480 3.50 YB2020-507 2.50 . Ti YB2020-565 | : 200 =
= G YB2020-508 3.00 S =
3 YB2020-481 400 YB2020-509 1.20 } - H 44 s
YB2020-482 450 YB2020-510 1.50 FiE
o (BREs ) HFLAEt YB2020-483 0.80 i e 120 = Suture-wire =
=2 Tension pin — e . % = =
> ~ YB2020484 1.00 YB2020-513 32.00 L = o
A YB2020-485 1.20 YB2020-514 1.20 | "§_
o 4 1 _ YB2020-515 | 1.50 | FEEH o
= YB2020486 | 150 YB2020.516 | 200 150 :: =
. YB2020-487 1.60 YB2020-517 2.50 . : 7
1|:j§L? Ef YB2020488 | 1.0 o e e : =
. e ' : | : . 300 a YB2020-519 1.20 _ =
YB2020-453 ®2.0%50 | YB2020-489 2.00 = ¥B2020-520 150 Fa =t
3 L 2 1 - . m ’ b
YB2020-454 ©2.0%55 YB2020-490 2.50 B — s
T | X | - L YB2020-522 250 - =
YB2020455 | ©2.0%60 | — YB2020-491 |  3.00 YB2020-523 3.00 o
: ; 1 i i
YB2020456 | ©2.0%65 , YB2020-492 3.50 e e i YB2020-566 | 06 =
i R A g : L1
YB2020-457 | ©2.0%70 . YB2020-493 4.00 YB2020-526 2.00 300 s5 YB2020-567 | 0.8 AW SS
YB2020-458 | 925570 YB2020-494 4.50 YB2020527 | 250 | ) YB2020-568 1.0 BEt
' YB2020-528 | 300 [ Y82020-569 | 12




